Problem 4.19

Use source transformation to find Io in the circuit shown
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Io = I(3K/(2K+3K)) = 1.2mA


Problem 4.24

Find Io in the network shown using source transformation.
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Problem 4.33

Use Thevenin’s Theorem to find Vo in the network shown.


[image: image5.wmf]2K

W

2K

W

4K

W

6V

12V

+

-

Vo


Suggested Solution


[image: image6.wmf]2K

W

2K

W

4K

W

6V

12V

+

-

Vo

2K

W

4K

W

6V

12V

+

-

Voc

V

1

+

-

Find Voc

V

1

 = - 6 [ 4K / (4K + 2K )]

V

1

 = - 4V



Voc = 12 + V

1

2K

4K

Rth = 2K || 4K = 1.33K

W

Rth

Voc

2K

+

-

Vo = 4.8V

Vo


Problem 4.37

Find Io in the circuit shown using Thevenin’s Theorem.
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Problem 4.65

Find Io in the network shown using Norton’s Theorem.
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Problem 4.67
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Problem 4.68

Given the linear circuit shown, it is known that when a 2-K( load is connected to the terminals A-B, the load current is 10mA.  If a 10-K( load is connected to the terminals the load current is 6mA.  Find the current in a 20K( load.
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